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Semester 1|

) @ [2 1 Hours] [Total Marks: 751

N.B. 1)an questions.are compulsory.,

(A)

m Attempt Al

2) Figures to the right indicate marks,
3) Hlustrations, in-depth answers and diagrams will he appreciated.
4) Mixing of sub-questions is not allowed.

(Each of 5Marks)
Multiple Choice Questiong
i. What will be the output of the following G code?

#include <stdio.h>
void main()
{

while ()
printf("In while Joop ");
printf("After loop\n");

2}, Inachilg ldon After Toer
b) Compile Time Error

c) After loop
d) Infi hite loop

Vhat will be the output of the following C code?

#include <stdio.h>
void main()
1

switch (printf("Do"))
{

case 1:
print{(“First\n");
break:

case 2: _
printf( "Second\n");
break;

default:
printf("Default\n");
break;

a) Do
b} DoFirst

c) DoSecond
d) DaDefault
S. ¢,

iii, What is the output of the following C code?
#include <stdio h>
int main()

void foo(), £();
1(};

. void foo()
{

rintf("o ");
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}
void f(}
{

printf("l “);
, foc();

a) Compile Time Error
b) 12

) 21

d) Dependson compiler

Ans. a.

iv. Which of following logical operation can be applied to pointers?
(Assuming initialization int *a = 2:int *b = 3;)
a) alb
b) a~b

c) a ilb
d) Ndne of the mentioned
Ans. d. '
V.  What i} the output of ihe folldwing code?
#include<stdio.h>
main()

{ *
ot 1L,];
n=f(&);
printf"%d" n);

f(int x)
{
if(x=42)
rgturn 2;
else

{
prifftf("+");
fx-1);

b

}
a) ++4+2
b} ++4++2
€} ++4++
d) 2
Ansa

(b) | Fillin the blanks
i " The streat(; Faocion i woed iy enucutenate vog siring ta the end of |

another stri

ii. AC programlis basically a collection of functions.

iii. In the C grogramming language, array elements always have
contiguous afldress

iv. An operationfwith only one operand is called unary operation

v. The default rpturn type of a function in C is int

(c) Short Answers
i.  Whatis a strjcture? Give an example
Ans.1 martl-:ror correct answer
ii. Whatis a poifiter?
Ans.1 mar}l:uEr correct answer

iii. Write the synfax of fopen? B
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Ans. 1 mark for eorrect answer
iv. What is an escape sequence?

Ans. 1 mark for correct answer
v.  Give syntax of do..while() loop.

Ans. 1 mazk for correct answer

Q.2

Attempt the following (Any THREE)(Each of 5Marks)

(15M)

(a) Differentiate between compilers and interpreters.
Ans.
Any 5 points of compilers [ 5x % = 2 /2 marks
{whole program taken, object
code generation, speed,
memory requirement, error
message ete.)
Any 5 poinis of interpreters | 5x V2 = 2 ¥ marks
(.line wise taken, no object
code  generation,  speed,
memory requirement, error
gssage ete.)
(b) | What are the various data types available in G? Explain the memory size and
range of data possible.
Ans.
5 primary data type and their details(void, char, | 5x %2 = 2% marks
int, float, double)
5 secondary/derived data type and their 5x V2 = 212 marks
details(arrays, pointers, structures, ehurn, union)
(¢) | What are bitwise operators? Explain citing an example for each.
Ans.
Explain working of &,|and ! 3x1 =3 marks
Example of &, | and ! 2 rrarks
(d) | Write a ‘C’ program to accept number and find out whether it is even or odd.
Declaring variable 1 mark
Accepting value from user 1 mark
Check to find divisibility by 2 2 marks
Print result 1 mark
(e) | Distinguish between If-else Structure and Switch Statement. Give example to
support your answer,
Syntax of if() and switch 2 marks
Example 2 markis
Explanation i mark
(3] Trace the output of the following code:

i. void main( )

inta=4;
switch (a)

{
default : printf(“In default”):

case 1 printf(“In 17);
break;
case 2 ; printf(“In 27);
break;
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}
}

Ans. In defauliln 1
i. void main()
{
inti=o,x=0;
for(i=1;i<10;i++)

{

if(i%2==1)
X=%X+1;

eclse

X——;
printf(“%d4”, x);
}

4

Ans. 101010101

Q. 3 | Attempt the following (Any THREE) (Each of sMarks) (15M)
(a) | Write syntax and explain the use of the following functions:
i. getch()
Syntax of gete() 12 mark
Explanation 12 mark
ii. getche()
Syntax of getche() 12 mark
Explanation 2 mark
iti. getchar()
Syntax of getchar() 1% mark
Explanation 1 mark
iv. gete()
Syntax of getc() 5 mark
Explanation Y2 mark
v. gets()
Syntax of gets() L mark
Explanation 1% mark
(b) | Differentiate between pass by value and pass by reference. Support your
answer with an example
Axts,
Explaining pass by value and pass by reference 2 x 1 = 2 marks
Example for pass by value and pass by reference | 2 x 1%2 = 3 marks
{c¢) | How are strings in C implemented? Explain with an example.
Ans.
Explanation of string in C 2 marks
Importance of null character 1 mark
Example using string 2 marks
(d) | What is an array? What are the advantages and disadvantages of an array?

Ans.

Definition of arrays/method of | 1 mark
declaration
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(Advantages: (any 2) Advantages:

1. It is used to represent 2 x 1 = 2 marks
multiple data items of same type by
using only single name. Disadvantages:
2. It can be used to implement | 2x1=2 marks

other data structures like linked
lists, stacks, queues, trees, graphs
ete.
3. oD arrays are used to
represent matrices.
Disadvantages(any 2):
1. We must know in advance
that how many elements are to be
stored in array.
2. Array is static structure. it
means that array is of fixed size. The
memory which is allocated to array
cannot be increased or reduced.
Since array is of fixed size, if
we allocate more memory than
requirement then the memory space
will be wasted. And if we allocate
fess memory than requirement, then
it will create problem.
4. The elements of array are
stored in consecutive memory
locations. So insertions and
deletions are very difficult and time
consuming.

(e)

Write a program to copy one string to another without using standard library

function.
Ans.

Declaring and initializing 2 strings (can be taken from user
also)

1 mark

Loop to copy element by element from source to target

2 marks

Take care of null character

1 mark

Printing the resultant string

[ 1 mark

®

Trace the output of the following code
int fun(int n, int *{g)

intt, f
if(n <=1)
{

*g =1;
refurn 1;

}

t = fun{n-1, fg);
f=t+*g
*Hg=1;

return f;

int main( )

{ -
intx=15;
printf ( "%d\n", fun (5, &x));
return 0;

¥
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Ans 8

(15)

Q.4 | Attempt the following (Any THREE) (Each of 5Marks)
(a) | Whatare nested structures? Explain with an example.
Ans.
Definition of nested structures 1 mark
Syntax of nested structure 1 mark
|£°de example of nested structure 3 marks

What are the types of files available in C? Explain the various file opening

modes in C.

Ans.,
File types: Text files and Binary | 2x 1 = 2marks
Files
Any 6 modes 6 x 2 = 3 marks

(r,w,a,r+,w+,a+,rb-,wb,ab...)

(c) | Write a pote on unions in C. Support your answer with an example.
Ans. .
[ Explanation of unions = marks
Syntax of union declaration 1 mark
2 marks |

syntax and example. How are they

| Code Example forunion
(d) | Explain malloc) and calloc() with
different?
Ans.
Explanation of use of malloc() and calloc(}
Syntax of malloc() and calloc()
Code Example for malioc() and calloc()
(e)

2 x o = 1mark |
2 % 1 = 2 marks
2 x 1 = 2 marks

Write a program to accept Student information (Roll no., name, percentage
of marks) for n’ students (Dynamically allocated). Store this in file and
display it in well format (Accept ‘n’ from the user.)

Ans.

Declaring the structure and accepting

nfromuser | 1mark

Dynamic allocation of structure array

1 mark

Creating file.

1 mark

1 mark

1 mark ]

Storing structure in file
Displaying data
(f) | Trace the output of the following code:
i. # include <stdio.h>
void main()
{inti=3,*h K
clrser();

=&
printf("%d\n", *%j * i+ *j);
}
Ans. 30
ii. # include <stdio.h>
void main{)
{int x[25];
x[0] = 100;
x[24] = 400;

}

Ans. 100500

printf(“\n%d%d”, *x, *(x+24)+*(x+0));

|
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Q.5 | Attempt the following (Any THREE) (Each of sMarks) (15)

(a) [ Give the difference between while() and do..while{) loops. Use an example to
Support your answer.

Ans.
Explanation of while() and do..while() loops 2 x 1 = 2 marks
Syntax of Commands used: for(Q)/while() and |j2x1=2 marks
do..while()
Code Example for entry controlled and exit | 2x %2 = 1 marks
controlled

(b) | Explain any 2 library functions provided in C’ language to manipulate

strings.

Ans.

Can give any 2 : strlen(), stremp(), streat(), strrev(), strepy() or any other
Syntax 2 x 12 = 3 marks
Explanation 2 x V2 = 1 mark
Example 2 x 2 = 1mark

(¢) | Write a program using recursive function to find factorial of a number
. accepted from the user.

Ans.
Accepting number from user smark |
Declaring function for calculating factorial 1 mark
Ensuring function is recursive 1 mark
Ensuring there is terminating condition in function 1 mark
Printing result 1 mark

(d) | Write a program in C to accept a string and check if the string is palindrome
or not. Print a suitable message.

Ans.

Declaring string and Accepting string from user 1mark

Loop till end of string 1mark
Condition to check palindrome 1 mark
Exiting if condition not satisfied _ 1 mark
Printing suitable message 1 mark

(e) | Explain the following with declaration syntax and example
i. | pointer to array

Ans.

Explanation 1. mark

Declaration syntax 1 mark

(eg. int a[5], *p;

P=3;)

Exampie i %2 mark
ii. array of pointers

Ans.

Explanation 1 mark

Declaration syntax 1 mark

(eg. int *a[5];)

| Example 1% mark
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